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900 | 63% [k

100 | 60% [k

100 | 60% [k

JAL



[R—N\—%FGIHEER(TA13~16BEEN)

EE#EMAA - 2018/03/02 ~
7/13 7/14 /15 7/16
=40} A——5B | R—/ %M | R—/ % | R—/ %G
B | W4 | GBS | EAE
RE(PE)=R R CPE) % | L
JEIIESS
RE(PE)=EE R CPE) % | L

EHER

JAL



[R——5%BEER(OAI~I3AEBESD)

EBEEAA 2018/03/02 ~
9/3-13
=R — 2= —R%#
SBRE Prikg %5
AR(BF=-ERE | KER(FFHHF .900 64% .800, +:12.000, H:10.500
100 | 56% 300, %:13.200, £:13.600, H:11.700
[y 100 | 56% 300, %:13.200, £:13.600, H:11.700
[y .900 | 64% 700
800 | 64% .900. H:12.900
800 | 64% 500, H:12.900
500 | 62% 900, £:11.100,
ERB% | J .800 400, £:11.700,
[y 800
[y 800
[y 800
600 1 1.
900 7% | KK:12.000.
.900 7% | KK:12.000.

JAL



TR—N—%FGIHEER(OA18~0BEEN)

EBEEAA 2018/03/02 ~
9/18-20.9/25-30
=40 — B
SBRE Prikg %5
AR(BF=-ERE | KER(FFHHF .900 64% .800, £:12.000, H:10.500
100 | 56% 300, %:12.800, £:13.200, H:11.400
[y 100 | 56% 300, %:12.800, £:13.200, H:11.400
[y .900 | 64% 400
800 | 64% .900. H:12.500
800 | 64% 1500, H:12.500
500 | 62%
ERBR [ .800
[y 800
[y 800
[y 800 .
600 1 200, & N
000 | 60% 900, %:13.000,
000 | 60%

JAL



[R—N—%FIHEEXR(10A1~4BEBESD)

EE#EAA - 2018/03/02 ~
10/1-4
A== F
=40]
B
EAE | s
AR (RFD=ERS PNACGESE .900 64%
100 | 56% |A:12.300
100 | 56% |A:12.300
900 | 64%
800 | 64%
800 | 64%
500 | 62%
ERER .800 .400
800 400
.800 400
800 .400
600 .200
000 | 60% | A:12.900
000 | 60% | X:12.900

JAL



[R—/X—%BEER(10A9I~18BHEES) AL

EEEMAA : 2018/03/02 ~

10/9-18
=R T 2= —R%#
"
B | i W&
XE(FRH-ERE | KR (A% 900 | 64% [2:12.700. £:12.900, H:10500
100 | 56% | A:12.300, :13.200, £:13.600, H:11.700
[ 100 | 56% | A:12.300, :13.200, £:13.600, H:10.900
[ 900 | 64% [H:11.700
800 | 64% |#:10.900. H:12.900
800 | 64% [ 211,500, H:12.900
500 | 62% [%:13.800, £:11.900,
BREE | J .800
[ 800
[ 800
[ 800
600 i

000 | _60% [
000 | _60% |




TR—/—%BIEER(10A19~27BEES) AL

EBEEAA 2018/03/02 ~
10/19-27
=R - 2= —R%#
.
SBRE Prikg %5
AR(BF=-ERE | KER(FFHHF .900 64% 700, £:12.900, H:10.500
100 | 56% 300, %:13.200, £:13.600, H:11.700
[y 100 | 56% 300, %:13.200, £:13.600, H:10.900
[y .900 | 64% 700
800 | 64% .900. H:12.900
800 | 64% 500, H:12.900
500 | 62% 800, £:11.900.
ERBR [ .800
[y 800
[y 800
[y 800
600 1
000 | 60%
000 | 60%




EEEAR

2018/03/02 ~

=40]

9/1

A—r\—5it

EAE

AR (BF-ERE

KR (£751) %

.000

.600

.600

.500

.800

.800

.100

ERER

.700

.900

.800

.800

.300

.500

.500

R—N—%FIEEROA1BEED)

JAL



S5 %BIEER(GAI6~1TAEES)

EEBEAB 2018/03/02 ~
5/16-17
FH =%7E
=40} B2 | mAm IIRSEE
BB B
RECRE) =L (FF&)| RRCHE) % 7.500
8.500
9.500
.200
.200
.200
.200
.700
.600
.100
.100
.300
.300
.700
.000 R:12.: :
7 .000 68% | A#£:12.200, £ 00, H
7 .000 7 <:12.200, 1:10.000, H:12.500
7 .000 73 :11.000
FLOR (BT F %) 5__JL 7 .200 7 +£:12.500. H:12.000
7 .200 7" 4
7 .200 7"
7 .200 7" 2.100
7 .200 7" P :12.500
7 .100 3 .100. £:11.600. H:12.500
7 .100 73
7 .200 7"
7 .200 7"
7 .200 7"
7 .200 7"
7 .200 7"
7 .000 68%
7 .000 68% | A
7 .000 7% A
7 100 73% |A
7 .100 76% |A:
7 500 75% :12.000
KB (A =4LIR (B F5%)| KR (A % |_JL! 7 .800 66% |£:17.300, 1:18.900, H:12.300
7 .800 66% |:17.300, +:18.900, H:13.000
[ J 7 100 12.500
L: 7 .200 2.300, H:13.500
FLIR (BT F %) $_JL: 7 8.700
7 .500 12.500
7 .200 :17.400
7 .200 :17.400
KB (BAEE) =#LIR (B F k)| KBk (BE) % | J 7 .200 2,500, H:10.400
7 100 10.500
7 100 10.500
LR (BT F %) 3 7 .200
7 .500
7 12.200 74 £:11.100, :10.400. H:11.800
fRE=FLIR G Fi) E RS 7 .800
7 300
LR (37T 5%) 3 7 .300
7 800 3
R (PR BN | RRCHE) % |_JL 7 200 5% |FH% 12,000, 12,500, A11.500
7 .200 75% | H:12.200, £:12.500, H:11.500
7 .200 75% |+ H:11.500
7 .200 72% |+ H:12.500
FEVIE:S 7 .200 72% |4 12.500
7 9.200 79% :10.700. + H:9.500
7 8.500 81 F:11.200. £:8.800, 1:9.000. H:9.500
7 8.200 8 H:10.300. 00
FRCRE) =8I RERCRE) % L! 7 -200 7 A H:11.700, 2.500
L 7 .200 1 1 H:12.500
L 7 .800 7 H:12.200. £:11.700. $:12.300. H:12.500
FEZS L. 7 .800 7 A .200, 1:12.300
L 7 .200 72 B .500
L 7 .400 76% |A .500. £:10.500. £:10.200
R CHE) =& Hm (M) % |_JL685 | 7 200 | 68% | A%.12.000. +.12.500, H.11.400
| JL587 |7 .900 69% |A:12.100, £:12.200, +:12.500. H:11.500
589 | 7 .200 65% |4 12.500
3 | JL584 |7 .200 65% 0.200. 7K:9.900, £:10.500. H:10.400
| JL586 | 7 .200 68% :12.200, +:10.600. H:11.500
L588 | 7 ,200 65% |+:11,900, H:12,500

JAL



TS %RBEER(GAI1S~31IBARES)

EEBEAB 2018/03/02 ~
5/18-31
F ==
B B | mam - IIESEF
2] EAE | gaix %
R (FE) =AU (T F )| RRCABE) % 7.500
8.500
9.500
.200
.200
.200
.200
.700
.700
.700
.700
.500
500
.700
.000
7 .000
7 .000
7 8.700 7
IR (T =) 5 JL 7! 200 7% | +:12.500, H:12,000
7 .200 7 4 2,500
7 .200 7 2.500
7 .500 r 00
7 .500 69% .500
7 .700 77
7 .700
7 .700
7 700
7 .200 4 12.500
7 .200 7 12.500
7 .000 68% :12.200, . H:12.500
7 .000 68% :12.200, *:
7 .000 68% :12.200, *:
7 .000 1% :12.200, *:
7 .500 75% :11.500
7 .500 7% :9.500
7 500 7%
KR (FFH =#LIR (3 Fa%)| KBR (FFH R [ J 7 .800 66% |£:17.300. £:18.900. H:12.300
7 .800 66% |£:17.300, +:18.900, H:13.000
7 .100 12.500
7 .200 2.300, H:13.500
HLIR (3 F i) 59 7 8700 2.400
7 .500 12.500
7 .200 :17.400
7 .200 :17.400
KB (BEFE) =4LOR (37 F )| KBx (BAFE) 5 | JL2501 | 7 .200 2.500. H:10.400
| JL2503 | 7 .100 10.500
JL2505 | 7 .100 10.500
LI (i F i) 5_JL2502 | 7 .200
["JL2504 | 7 500
JL2506 | 7 12.200 1.100, 1:10.400, H:11.800
BE-ALR FTE) @M% | JL3513 | 7 800 2,200, B:12.500
JL35 7 .300 :9.900
LI (i Fik) 5_JL3510 | 7 .300 9.900
JL35 7 800 12.500
RECHE) =R BROCPE)F [ _JLs51 [ 7 .200 2.200. 1:12.500, H:11.500
| JL553 |7 .200 2.500. H:11.500
[ JLs55 | 7 1200 1.500
557 |7 .200 2.500
FEVIE:S | JL552 |7 .200 2500
| JL554 |7 9.200 .500
| JL556 | 7 8.500 .800, 1:9.000. H:9.500
L558 | 7 8.700 200, H:9.500
R = (PE) % |_JL 7! 11.200 £:11,600. F:12.500. H:11,700
L 7 9.700
L 7 11.800 73% |#:11.700, +:12.300. H:12.500
RS L 7! 11,800 73% | +:12.300, H:12.200
L 7 9.700 78%
L 7 .400 76% |£:10.500, £:10.200, B:11.500
Fm (W@ -HAE T CHE) % |_JL585 | 7 200 68% | A2:12.00, +:12.500, H:11.400
| JL587 |7 .900 69% |4 12,200, £:12.500, H:11.500
589 |7 200 65% |4 12.500
HEEFR | JL584 |7 9.700 72% |£:12.200, £ H:10.000
| JL586 | 7 10.000 72%
L588 | 7 12,200 65% |+:11,900, H:12,500

JAL



TSR FIERER(6A1~THERD)

EEEAA . 2018/03/02 ~
6/1-7
FH =57
= @ | AR DAETEE
® | mmm | BEP
R mEE |
RECRE) =L (FF&)| RRCHE) % 7.500 80% | &:
8.500 7% _|%:
9500 75%
200 7
700 1
500 4
500 4
700 | 69%
500 | 7
800
800
800
800
800
000 | 68%
7 000 | 68%
7 000 | 71%
7 .000 | 73%
#L1% (B F %) 5L 7 .000 68%
7 500 | 67% | +:13.000, H:11.300
7 500 | 67% | E:13.000, H:11.300
7 500 | 69% [&£:12.000.
7 500 | 72% 000, H:12.200
7 .000 | 73%
7 .000 | 73%
7 500 | 67%
7 200 | 65% |4
7 200 | 65% |&
7 400 4
7 500 7
7 500 )
7 500 7% |5
7 .000 1
7 .000 |73
7 9.000 76%
7 9.500 75% | H:12.
R CHR)=&@Es | RmCRE) % [ _JU 7 000 | 70% | KOKA:13.500. E:15.000
7 000 | 70% | kOKA:13.500, E:15.000
7 500 | 73% | 2k7K:12.000. £:13.000.
ES TS 7 500 | 73% | OKA:12.000. H:14.500
7 500 | 73% | JOKA:12.000. H:14.500
7 9.000 80% | JokA :
RR (FA) =1 R (PE) & [_JL 7 000 | 73% | 2kok:11.500. K12
7 500 | 65% | kokA:15.000 E:1
7 000 | 75% | ok:10.500.
7 500 | 76% | A£:11.000.
B 7 .000 | 77% |k7K:9.500_2:10.500. L
7 8.500 81% [H:0.000. %+:9.500. H:12.500
7 9.000 80% | H:11.500
7 8.500 81% |%1:0.000. H:11.500
FRCRE) =8I RERCRE) % L 7 .500 76%
L 7 300 | 67%
L 7 000 | 75%
EEE3 L 7 000 | _75%
L 7 .000 | 70%
L 7 600 78%
EEACE:E TN RERCRE) % L 7 400 78%
7 600 | 75%
7 600 | 75%
7 300 | 74%
HILF 7 .000 74%
7 500 | 76%
7 500 | 76%
7 9.500 78%
RA CHE)=miE R CRE) 5 [_JL 7 12100 | 66%
J 7 10700 | 70%
7 13400 | 62%
mEE [ 7 9.500 73%
J 7 11.000 | 69% |H:11.
7 15300 | 57% |2:14.000. %:11.700 00
B (R E8) =ALIR (B T A B I (P h) 3 _J 7 17.400 | 58% |2::21,000. £:20.000. H:16.400
[y 7 7.400 82! 7.800
J 7 7.400 82! 7.800
J 7 600 84 :7,000
7 500 84 6,900, H:6.700
+LIR (B F ) 3 _J 7 600 84 :7,000
7 400 82! 7,800
7 12,900 69% [:X:12,300, KA:10,500, £ H:13,800
7 12,900 69% [:X:12,300, JKA:10,500, £ H:13,800
7 12,900 69% |+ H:14,200

JAL



EE#EAR : 2018/03/02

ML RFIEER(6AS~14AEBES)

o 6/8-14
= @ | AR DAETEE
® | mmm | BEP
R mEE |
R (FE) =AU (T F )| RRCABE) % 7.500 80% | &
8500 | 77% |2
9500 | 75%
200 | 67%
700 | 61%
000 | 63%
000 | 63%
700 | _69%
500 | 7
800
800
800
800
800
000 | 68%
7 000 | 68%
7 000 | 71%
7 .000 | 73%
#L1% (B F %) 5L 7 .000 68% 8
7 500 | 67% | +:13.000, H:11.300
7 500 | 67% | E:13.000, H:11.300
7 500 | 69% [&£:12.000.
7 500 | 72% 000, H:12.200
7 .000 | 73%
7 .000 | 73%
7 700 | 66%
7 .200 | 65%
7 .200 | 65%
7 .400 | 64%
7 .000 | 65%
7 .000 | 65%
7 .000 | 65%
7 000 | 71%
7 .000 | 73%
7 9.000 | 76%
7 9.500 | 75%
RR(PE)=R#ES | Rm(RE) R [_JL 7 500 | 69% |2
7 500 | 69% | JkIKA:14.000, E:15.500
7 .000 | 72% | k7K:12.500. %:13.500.
B 7 .000 | 72% | OKA:12.500. H:15.000
7 000 | 72% | JOKA:12.500. H:15.000
7 9500 | 79% |JIKA: 15,000
o (RE)=1Il o (AE) % |_JL 7 500 | 72% | 2koK:12.000. A:13.000. %:14.500. F:15.500
7 .000 | 64% | 17.000
7 500 | 74% |
7 500 | 76%
P 7 500 | 76%
7 9.000 | 80%
7 500 | 79%
7 000 | 80%
FRCRE) =8I RERCRE) % L 7 .700 75%
L 7 200 | 65%
L 7 300 | 74% | ®:12.
FEE L 7 300 | 74% [%:12.300. £:12.500.
L 7 900 | 68% |4 +:14.900. H:14.100
L 7 100 |77 :10.500. H:11.500
RRCAB)=®BE | R CPE) % |_JL 7 9900 | 77 :10.000. £:10.900
7 300 | 7 +11.900 £:12.400
7 300 | 7 211,900, £:12.400.
7 400 | 7 +12.900. £:11.900.
HILF 7 1200 B
7 .900
7 .900
7 9.800
R (PE)-EE | RRCHE) R | JL 7 100
J 7 700 E;
7 400 E
mEE [ 7 .000 | _72% [
[ 7 500 | 67% |H:I2.
7 300 | 57% |%:14.000. 1:11.700 00
B (R E8) =ALIR (B T A B I (P h) 3 _J 7 400 | 58% |%:21.000. :20.000. H:16.400
[y 7 7400 | 82 7.800
J 7 7400 | 82 7.800
J 7 600 | 84 :7,000
7 500 | 84 6,900, H:6.700
+LIR (B F ) 3 _J 7 600 | 84 17,000
7 400 82! 7,800
7 10500 | 75% |H:11,800
7 10500 | 75% |H:11,800
7 12,900 69% |+ H:14,200

JAL



EE#EAR : 2018/03/02

TS5 BIEER(6A15~21BEES)

v 6/15-21
= @ | mA RS
® | mmm | BEP
R mEE |
R (FE) =AU (T F )| RRCABE) % 7.500 80% | &
8500 | 77% |2
9500 | 75%
200 | 67%
700 | 61%
000 | 63%
000 | 63%
700 | _69%
500 | 7
800
800
800
800
800
000 | 68%
7 000 | 68%
7 000 | 71%
7 .000 | 73%
#L1% (B F %) 5L 7 .000 68%
7 500 | 67% | +:13.000, H:11.300
7 500 | 67% | E:13.000, H:11.300
7 500 | 69% [&£:12.000.
7 500 | 72% 000, H:12.200
7 .000 | 73%
7 .000 | 73%
7 700 | 66%
7 .200 | 65%
7 .200 | 65%
7 .400 | 64%
7 .000 | 65%
7 .000 | 65%
7 .000 | 65%
7 000 | 71%
7 .000 | 73%
7 9.000 | 76%
7 9.500 | 75%
FERCRE)=k#5 HR(PE)F [ JL 7 .500 69% |
7 500 | 69% | JkIKA:14.000, E:15.500
7 .000 | 72% | k7K:12.500. %:13.500.
BT e 7 000 | 72% | &oKA:12.500, H:15,000
7 000 | 72% | JOKA:12.500. H:15.000
7 9500 | 79% |JIKA: 15,000
o (RE)=1Il o (AE) % |_JL 7 500 | 72% | 2koK:12.000. A:13.000. %:14.500. F:15.500
7 .000 | 64% | JKA:15.500, E:17.000
7 500 | 74% |
7 000 | 75% |
FEIES 7 500 | 76% |2
7 9500 | 79% |/
7 500 | 79%
7 500 | 8i%
FRCRE) =8I RERCRE) % L. 7 .700 75%
L 7 200 | 65%
L 7 300 | 74% | ®:12.
FEE L 7 300 | 74% [%:12.300. £:12.500.
L 7 900 | 68% |4 +:14.900. H:14.100
L 7 100 |77 :10.500. H:11.500
R (E)BE | BaHE) % L 7 9900 | 77 :10.000. £:10.900
7 300 | 7 +11.900 £:12.400
7 300 | 7 211,900, £:12.400.
7 400 | 7 +12.900. £:11.900.
HILF 7 1200 B
7 .900
7 .900
7 9.800
R (CRE)=EfE RERCPE) $|_JL 7 .100
J 7 700 E;
7 400 4
EmEE | J 7 .000 | _72% [
[ 7 500 | 67% |H:I2.
7 300 | 57% |%:14.000. 1:11.700 00
R A ICEEN 7 400 | 58% |%:21.000. :20.000. H:16.400
[y 7 0500 | 75% | B H:11.800. A:12.300.
J 7 0500 | 75% |HA:11.500. £:10.700.
J 7 0600 | 75% |+:11,000. H:11,000
7 8600 | 79% |+.9.900. H:9,000
EXAEESSE I 7 9300 | 78% 00, A:11,600, £:10.100. H:11,100
7 200 | 76% 0,400, :12,500, #:11,000, H:12,000
7 500 | 75% 0,700
7 500 | 75% 0,700
7 ,900 69% 14,200

JAL



EE#EMAA : 2018/03/02 ~

I9ILhS%

BIEER(6H22~308#FES)

v 6/22-30
= @5 | BAM [—— g TRETER
B EmE | Gne | s
RECRE) =L (FF&)| RRCHE) % 7.500 80% |4:8.700, £:9.700
8.500 77% | %:10.900, +:13.900
9500 75% :
200 | 67%
700 | 61%
000 | 63% 500, 14700, %116,
000 | 63% 500, :14.700.
700 | _69%
500 | 7
800
800
800
800
800
000 | 68%
7 000 | 68%
7 000 | 71% 800, £.10.000. B:12.300
7 .000 | 73% .000
FLIR (37T ) 3L 7 000 | 68% | %:12.500. £:13.000. H:10.800
7 500 | 67% | +:13.000, H:11.300
7 500 | 67% | E:13.000, H:11.300
7 500 | 69% [&£:12.000.
7 500 | 72%
7 .000 | 73%
7 .000 | 73%
7 700 | 66%
7 .200 | 65%
7 .200 | 65%
7 .400 | 64%
7 .000 | 65%
7 .000 | 65%
7 .000 | 65%
7 000 | 71%
7 .000 | 73%
7 9.000 76%
7 9.500 75%
FERCRE)=k#5 HR(PE)F [ JL 7 .500 69%
7 500 | 69%
7 000 | 72%
s ES 7 500 | 73%
7 500 | 73%
7 9.000 80%
FR CRE) =Rl HR(PE)F [ JL 7 .000 71
7 .000 |64
7 500 |74
7 500 |74
JCITIES 7 500 | 76%
7 9.500 79%
7 10000 | 77%
7 500 79%
FRCRE) =8I RERCRE) % L. 7 .700 75%
L 7 200 | 65%
L 7 300 | 74%
FEE] L 7 300 | 74%
L 7 900 | 68%
L 7 100 |77
EEACE:E TN RERCRE) % L. 7 9.900 17
7 300 | 7
7 300 | 7
7 400 | 7
HILF 7 .200 7
7 .900 | 75%
7 900 | 75%
7 9.800 77%
R (CRE)=EfE RERCPE) $|_JL 7 .100 66%
J 7 700 | _70%
7 400 | 62%
EmEE | J 7 000 | 72%
J 7 000 | 66%
7 300 | 57%
(B 2 () = AL W (37 T | 8 o 2 () 3 7 :400 58%
[y 7 0500 | 75% |F
J 7 0500 | 75% |F
J 7 0,600 | 75% | +:11,900, B:11,000
7 8,600 79% | £:9,900, H:9,000
IR (BT ) 34 _J 7 9,300 78% 00, A:11,600, £:10,100, H:11,100
7 200 | 76% 0,400, :12,500, #:11,000, H:12,000
7 500 | 75% 0,700
7 500 | 75% 0,700
7 ,900 69% 14,200

JAL



LSRG IERER(TAI~12BEES) AL

EE#EMAA : 2018/03/02 ~

Py 7/1-12 .
) B | mam 2UESEF
® | &mm |50
" | sz
TRAE RN | Bm ) & | _JLs1 700 | 6o
| _JL553 .400 58%
|_JL555 .000 70% |Y
JL557 .000 72% |Y
JeJII%E | _JL652 000 | 72% |/ I ]
| _JL554 .500 71% | kJK:12.900, 000, H:17.000
| _JL556 .500 47% :25.500, £:26.400, H:28.100
JL558 .900 210,400, £:
TR IR DB | ER CHE R L 900 14,400,
JL! .800 :19.900, £
JL! .100 216,200, 1:16.500,
EE] JL 400 +16.400,
JL! 900 | ¢ 19.100,
JL! .900 0% :14.400, 1:14.900,
TR IE)BE | B CHE R L 400 |70 14,400

.900 67% :15.400. K

.900 67% 15500,

.900 67% :16.000. £:16.500.

.400 66% +16.000. £:16.300.
%

HIER

.500 68% 15,500,
.500 68% #:15.500. 00,
.300 1% +14.400. £:13.900.

.700 61% :15.900, +:20.100, H:14.300
.000 65% :13.500, +:14.900, H:15.300
.300 59% :16.900, +:15.500, H:17.400
.900 68% {7K:11.400, & H:12.500, +:13.300

R CRIE) =B RRECPE) R | JU

=

100 | 60% | k7K:14.900. %:15.000, +:15.500. H:18.000
000 | 55% |£:16.300. +:15.500, H:21.200
AR (FFD=ERS KR (75 % 8.500 74% [£:11.700
12200 | 62% |/KH:8.900
.900 73% | A% +:12.200
500 74% |£H:10.700
500 7 :11.700
7 :12.200
.900 7
ERBR 500 7 £:10.700
.900 73% | %:10.700
500 74% [%:10900. £:11.600
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